EARAROBREBRT —5 XN—ZXBISH—F

2023568308 (&) 7OREE4H

mC A48 SR BN
[xE&] 15 :450,000H  23%&:158,000 @  33#&:90,000 @  43%&:68,000H  5i&:45,000H
B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
=T : -2-1- - )IfE% (BEE)
117) 9| 7zo7—0— # 4B NS I "G [eem
RBYITF—H— B:TTIIL—I ATHS
< EEFIER : -6-5- - SEfEe (BEE)
211 n=—r= B4 s 1.(317).4 6-6-5-4 | 39.2 6 (4_98(; Fhvisis
RiSZ #:54TUN—b [k e
S = = 84 | BAES 1:37.5 3-3-2-3 | 40.5| - 2 | 453 |EHSER (BEE)
3|8|1| TIEITATSY 54.0 o) () |HEBET
R:NT BT VALRA e ]
S KIBEZIE : -9-9- - RPOE (BEE)
1 3| ?vnoovs—u w4 | T 136 | 9987 |38 | o | EeEE
RIN—EVIv— §:/—J)I0xRvyk #HET7—L
= " N~ HLE— :38. -10-10- . - EHSH (BER)
55l | FAPATYYT i 7 Al 1(355)7 11-10-10-10] 38.4 10 (4_712) A
RIN—EYIv— BRATAFYVT V& SHis
- o 9 8 6 | FIME 1:38.8 1-1-3-2 (4.7 - 5 45) |TTRA (REE)
618/12//N\Z /0K 54.0 (3/4) gy |BEA=
RiFVIARZ S §:0€85= IIDS5T7—1
o WAl — LR :39. -7-8- . - ErIBE—B (RGE
70 2 | EvYNILZS - 1 (339) ) A ’ ?:3 s e
RIZAEIWN—T B:EVYRAI MEZ Y R
S RS n 4 | SHEX 1:39.7 10-12-11-11| 38.4 | — 8 438 | TREA (BEE)
sfd s TUVETSYY Rty a1/2) ) | @ F7=zrEvay
R:RwSXYF F:HIEREL—3 BREM SHI7—L
= e H 5 | AMIEE 1:39.7 8-8-7-8 | 41.1| - 7 | 518 |REOXRK (2ER)
9 7 NITIRSE 56.0 (79%) 0} HEEST
RIIET7RAT7 B:=Zaxvb /=Y ITr—1L
SR 8 7 | BEHEA 1:39.9 4-4-4-6 | 4.9 — 12 | 441 | REBEX (BREE)
10[5]5|21F 540 M o |EERE
R:ILFVr ML BNV HOMES
~ = t 5 | BlEEE 1:40.5 5-5-6-9 | 42.2| — 9 Mo | ERRAIE (BHE)
17|10 T~ 3INLTR ! 54.0 ® o | 77—2kevay
R:d—ILRAAO— B:OAILYF SEAL IR
. n HEFREE : -11-12- - Bitt® (BoE)
120 4|/ —TWHLT B4 b 1.{12(;.9 12-11-12-12| 39.5 1 (4:314) 2 a:
RIRIVIATAwIIAUT7— B:DIIYIVTILD hEHiE
@ 11— —®BIEfI
10—+— 12,9,11,5,10,1,2,7,3,8,6,4
20—F— 12,9,11,5,10,1,2,7,3,6,4,8
Sal=zr= 9,11,12,5,1,10,7,2,3,6,8,4
43—F— 9,12,11,1,2,5,3,7,10,6,8,4
o ILRE
B B 9 1504 AR 1-9 630/ % 3= 1-7 3,630 3EE 1-9-1 3,440H
7B B 9 1309 9-11 1804 5 & 1-9 2,230 3EH 9-1-11 11,410
1 4604 -1 1,100/ B8 9-1 2,440
I 150M4

ABIC OV TRUTEREERRODDZE. THRIIZEL.



